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20188 = 20l A LEHSH |0 o2
EX: |0lsEn
HE: =9 FMY L
el ROIMADIBIRS (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
20 a8 14,461,387 18,404,396 N 3,943,009
= 372,966
Xl 1,423,991
Jl 3,227,212
= 1,581,961
Al 7,855,257
S WA UG 13,534,531 13,464,396 70,135
= 372,966
Xl 1,423,991
J| 3,227,212
& 1,581,961
Al 6,928,401
N MAD B2 = 3,853,883 5,582,970 N1,729,087
= 145,866
Xl 196,326
Dl 736,688
= 439,536
Al 2,335,467
SHE0F HIUHXE2ZAE XN (AEKd0HXOIE2S 364,665 342,209 22,456
s3})
= 145,866
& 65,640
Al 153, 159
402 SI2FXHE0| & 364,665 342,209 22,456
= 145,866
& 65,640
Al 153, 159
02 BIZtXIEANYEX(0OIETH) 364,665 342,209 22,456
OANERJN CEE2HE NS
729,330,000 x50% 364,665
= 145,866
= 65,640
Al 153, 159
SMEHNSHED 300,000 210,000 90,000
402 SI2FXHE0| & 300,000 210,000 90,000
01 CIZIXIEAIS X (MM ML) 300,000 210,000 90,000
OsMEaNMS2HED &AX
6,000,000 x100= *50% 300,000
oSO = 2,500 2,300 200
202 o4 | 1,500 1,500 0
01 2L I 1,500 1,500 0
ONHSHESSH oI@ U X0
50,000& *30H 1,500
301 Bt A= 1,000 800 200
09 HAIAHI EAZ 1,000 800 200
OdlSE&sIH 2= 20,000 x50H 1,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
AME RN MAD B2 = 185,000 185,000 0
402 2I2H X201 M 185,000 185,000 0
01 2I2E 2 A B (RERTH ) 185,000 185,000 0
O3NE & 23 XA
7,000,000& 102 *50% 35,000
OJWES NSA MAMIA
500, 000& *600= *50% 150,000
ZOUAESS (A0S BIJIEGIRA AlE X&) 510,000 540,000 230,000
402 RI2EXt20l ™ 510,000 540,000 230,000
01 212t 2 AL E = (REM ) 510,000 540,000 30,000
OJ0AE HIJte ot*A 4AX X
20,000& *50,000m" x50% 500,000
OAHdotRA AXMETH i ELHE XA 10,000
ANESHRA s&Y @ MSSZNMA 2 &£X X 90,000 0 90,000
%
402 RIZ2EXt201 ™ 90,000 0 90,000
01 2IZt Xt 2 AL E = (REM &) 90,000 0 90,000
OANEsot2A =&Y 2 I &L
ax X2 7,200& %25,000m" x50% 90,000
FHA=SASIIEEY 18,000 3,000 15,000
203 YR =&l 3,000 3,000 0
03 MM FXH S =AY 3,000 3,000 0
OCRMAAE AMFA 3,000
405 Xt&tE SHI 15,000 0 15,000
01 AL EFH S 15,000 0 15,000
OFRMN g2E8 2AX ¢ 250,000& 2574 6,250
OFAM g8 M4 F 350,000 *25JH4 8,750
sSENE SN (NGSEBESHIL6rRA & 203,575 1,228,601 A 1,025,026
Xl
X 169,646
Al 33,929
402 QI2H X201 M 203,575 1,228,601 A 1,025,026
X 169,646
Al 33,929
02 QI EALEZ (01X THE) 203,575 1,228,601 A 1,025,026
OXYESZS(HILoRA)XE 203,575
Xl 169,646
Al 33,929
MRS XA 1,731,640 955,000 776,640
J| 692,676
< 311,654
Al 727,310




SN 206 2D
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CHol: A0 M AD|B RS (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
402 BI2FX=01 M 1,731,640 955,000 776,640
| 692,676
< 311,654
Al 727,310
02 QI EAILEZ (01X S) 1,731,640 955,000 776,640
OAMEJUES A 1,731,640
| 692,676
= 311,654
Al 727,310
DFHIDIEMBHAIE X & 8,690 140,000 A 131,310
| 3,476
< 1,564
Al 3,650
402 RIZER20l ™ 8,690 140,000 A 131,310
| 3,476
< 1,564
Al 3,650
02 22t X2 AL E = (01X THE) 8,690 140,000 A 131,310
ODFHIJIE XA A 17,379,000& *50% 8,690
| 3,476
< 1,564
Al 3,650
W20 ICT 82 X& 101,340 87,500 13,840
J| 40,536
< 18,241
Al 42,563
402 RI2EXt20| ™ 101,340 87,500 13,840
J| 40,536
< 18,241
Al 42,563
02 QI 2 A EZ (01X TH ) 101,340 87,500 13,840
O &EOok ICT =X 101,340
| 40,536
< 18,241
Al 42,563
MDA 23D T2 80,417 30,714 49,703
= 24,125
Al 56,292
402 RIZER20| A 80,417 30,714 49,703
< 24,125
Al 56,292
02 It EAIL EZ (01X THS) 80,417 30,714 49,703
OAldoteA 23HEI| XA
134,028,000& *60% 80,417
< 24,125
Al 56,292
22 2|l XN2AY 165,000 110,000 55,000
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el ROIMADIBIRS (sl &2)
- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
402 SI2FXHE0| M 165,000 110,000 55,000
01 SIZEXIEANSEXR (MMM E) 165,000 110,000 55,000
OXE2 22|10 KEEAY
2,200,000& *x150CH *50% 165,000
2HEHE AQIE T &Ab 61,040 85,260 N 24,220
= 18,312
Al 42,728
402 SI2FXH=20| ™ 61,040 85,260 A 24 220
& 18,312
Al 42728
02 QIZEXIEAISE X (0| XM THL) 61,040 85,260 N 24,220
O2tEHE AQET SAFAY 87,200,000 *70% 61,040
& 18,312
Al 42,728
ANER0EZ GIOIHIEHSL ALY 32,016 0 32,016
N 26,680
Al 5,336
402 SI2v X201 & 32,016 0 32,016
Xl 26,680
Al 5,336
02 CIZEXIEAIS X (0| XM THL) 32,016 0 32,016
OANEKNHZZ SIOIHIEINS ALY
53,360,000 *60% 32,016
N 26,680
Al 5,336
SMHERSEHS 5,149,740 1,976,992 3,172,748
=2 224,100
Xl 590,835
J| 1,600,000
& 760,388
Al 1,974,417
SAMASEHHE LG 19,600 12,500 7,100
202 o4 | 4,500 3,000 1,500
01 2L HI 4,500 3,000 1,500
OSSHE BESE =8 100,0002 «3% 152 4,500
301 et A= 5,100 4,500 600
09 #HAIAHI BEAZ 5,100 4,500 600
OsSHg RNBsA BEQY HIIPA
100,000 »32 %17 5,100
307 gizto| A 10,000 5,000 5,000
02 QI2tAAMAIE E =X 10,000 5,000 5,000
OsSHE 82 L SHHBA A4
1,000,000 =103l 10,000
=A2 0 E XY (EX) 81,600 59,651 21,949
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HE: =9 FMY L
He: siERsSELES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 40,800
= 12,240
Al 28,560
307 i+l & 81,600 59,651 21,949
= 40,800
< 12,240
Al 28,560
02 IZtE M AMHEE 81,600 59,651 21,949
Osd&sS DHAE XEAMY 136,000, 000& *60% 81,600
= 40,800
< 12,240
Al 28,560
S&2 TVEAT OHAHE XEAY 24,000 0 24,000
< 8,000
Al 16,000
307 21201 A 24,000 0 24,000
< 8,000
Al 16,000
02 UAFAAFEX 24,000 0 24,000
OsdtE TVEA Y OHAHE XN&
40,000,000& *60% 24,000
= 8,000
Al 16,000
SEMEEBNE 182,600 330,600 A 148,000
201 Let24E] 161,600 316,600 A 155,000
01 At 22l 158,000 308,000 A 150,000
OXNY=sS¢tE s238E 22 ME
2,000& *4,000% 8,000
OsdlE2 SsE-E F&0e 21 150,000
TV &1 10,000,000 =301 & 30,000
o2t Adel &2 10,000,000& «3H & 30,000
HAMBHA 230 90,000
02 =224l 3,600 3,600 0
OZFge 288 I3 300,000& =123l 3,600
307 21201 A 21,000 14,000 7,000
02 B AAFE X 21,000 14,000 7,000
OL3A0HEH 2EHE 2 BEH XA
30,000,000& » 141 x70% 21,000
SSNUHSEBXNE (sS4 HUHI 2435 XH) 80,000 92,500 A 12,500
< 32,000
Al 48,000
307 21201 A 80,000 92,500 A 12,500
< 32,000
Al 48,000
02 LAFAAFEX 80,000 92,500 A 12,500




A Eos=2l

HE: =9 FMY L
ool sM2RSEAE CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O=S4E CIH B 283 XIJAAY 80,000
< 32,000
Al 48,000
SENE SSMLSNA(MATGERSG 2 S0 80,000 240,800 A 160,800
g EM3 ArY)
Xl 50,000
Al 30,000
307 gl2tol & 80,000 240,800 A 160,800
Xl 50,000
Al 30,000
02 IZtA M AIHE L 80,000 240,800 A 160,800
OMATI=RS & SEOHHE 243 AHY
100,000,000& *80% 80,000
Xl 50,000
Al 30,000
SHE MIKRSHE AE(BX) 2,800,000 0 2,800,000
J| 1,600,000
< 600,000
Al 600,000
402 QI2H X201 M 2,800,000 0 2,800,000
J| 1,600,000
< 600,000
Al 600,000
02 QI E2AE EZ (O TH ) 2,800,000 0 2,800,000
Osdts M4X=SHH 2EXE 2,800,000
| 1,600,000
< 600,000
Al 600,000
sHE sSEot 2UXNE(BX) 366,610 357,012 9,598
= 183,300
< 55,000
Al 128,310
307 glz2tol & 366,610 357,012 9,598
= 183,300
< 55,000
Al 128,310
02 HAFHAANFEE 366,610 357,012 9,598
OsttEs 2s£o XA 366,610
= 183,300
< 55,000
Al 128,310
sHttE8 ZSEot EUXR (XHA) 150,000 0 150,000
307 21201 A 150,000 0 150,000
02 UAFAAFEX 150,000 0 150,000
OBazE E2s&Zd X 150,000
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He: siERsSELES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sENE S (s4E 8238 HES X 57,882 178,293 A 120,411
2AA)
Xl 34,835
Al 23,047
402 RI2EXt20l ™ 57,882 178,293 A 120,411
Xl 34,835
Al 23,047
02 RIZt X2 AL EZ (OIS ) 57,882 178,293 A 120,411
Osd2 828 44U E&3 N3 AL 57,882
Xl 34,835
Al 23,047
sENE S (sate 22y KA 82,500 77,276 5,224
SEAY)
Xl 66,000
Al 16,500
307 glz2+ol & 82,500 77,276 5,224
Xl 66,000
Al 16,500
02 QB LA EE 82,500 77,276 5,224
Ostts 2 NEMAH &5 NBAY
165,000, 000& *50% 82,500
Xl 66,000
Al 16,500
s&2 74l XA 396,000 120,000 276,000
301 et a = 396,000 120,000 276,000
MIIEEd= 396,000 120,000 276,000
OEctdfg=sIt sedt2 270 A&
1,714,280,000& *7% 120,000
OSEiHE M Ss=7H X& 276,000
sENE SIS (sbtE8 &4Fs Jg2FA 680,000 320,000 360,000
o)
X 425,000
Al 255,000
402 RI2FX=201 M 680,000 320,000 360,000
X 425,000
Al 255,000
02 QI EAILEZ (OIS ) 680,000 320,000 360,000
OARZ s&E &35 JIEIZAY
850,000,000 *80% 680,000
Xl 425,000
Al 255,000
eSS o4Fs ZEM XNFAS 6,000 0 6,000
X 5,000
Al 1,000
307 glz2tol & 6,000 0 6,000
Xl 5,000
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Al 1,000

02 HAHFHUANEEE 6,000 0 6,000
OEXN=E 433 2N XNAAE
10,000,000& *60% 6,000

Xl 5,000
Al 1,000

2FEE T2AY 104,828 0 104,828
Xl 10,000
41,712
Al 53,116

H

307 21201 & 29,828 0 29,828
Xl 10,000
4,212
15,616

= M

MNFEX 29,828 0 29,828
58 NEAE

14,040,000& «70% 9,828
4,212
5,616

= H

20,000

Xl 10,000
Al 10,000

402 2I2tXt=01 & 75,000 0 75,000

37,500
37,500

= M

[m]

02 2I2tXt

2H

!

AMNLSEZ(0IETHE) 75,000 0 75,000

E AFQIAF X ALY

B0y

[

O

41

125,000,000& *60% 75,000

37,500
37,500

= M

FRsaE JtEAE XA 38,120 0 38,120
11,436
26,684

= M

301 €EtE &= 38,120 0 38,120

11,436
26,684

= M

o= 38,120 0 38,120
S&E JHAE T3 AMY 38,120
11,436
26,684

=

sHIt8a 3= 513,133 753,333 A 240,200
Xl 7,000
= 130,000
Al 376,133

S &t

(il

0K

, SASOHHEXA 30,000 30,000 0

307 21201 A 30,000 30,000 0




AN Hos=En

HE: =9 FMY L
Sl SAIIBABESY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 It M AHE L 30,000 30,000 0
O=HASe s &I XA
2,000,000& =100 & X 20,000
O=UAa s s & XA
2,000,000 +501 & X 10,000
=X 40,000 40,000 0
307 gl2tol & 40,000 40,000 0
02 IZtEHAIHE L 40,000 40,000 0
OSSM2 +BANE HE
2,000,000 1000 & Xl +23] 40,000
SSME=ENE 433,333 473,333 A 40,000
< 130,000
Al 303,333
307 21201 A 433,333 473,333 240,000
< 130,000
Al 303,333
02 It M AIHE L 433,333 473,333 A 40,000
OtldsatE === JHl X3 AS 433,333
< 130,000
Al 303,333
HACCP AtZ= 22| 248 X 9,800 0 9,800
Xl 7,000
Al 2,800
307 glz2tol & 9,800 0 9,800
X 7,000
Al 2,800
02 IZtE M AHE X 9,800 0 9,800
OHACCP At=2te| 24 E K&
14,000,000& *70% 9,800
Xl 7,000
Al 2,800
SlEMUSY 1,386,766 1,854,351 A 467,585
X 529,830
= 209,737
Al 647,199
sE2ZddH L3S 151,005 165,532 A 14,527
101 @14 Hl 51,405 36,232 15,173
04 JIZHHZ22XRHEE S 51,405 36,232 15,173
OsiEzd2XN=x=d AT & M=xg 22|
60,2403 «10E x 14«53 42,168
OdlEZd2XNFEd WY 2t
102,630+3 x5 x62] 9,237
201 £B-2dH| 37,800 27,600 10,200
01 At 22l 13,000 11,000 2,000




2L 2
X ZH -
L= B
el
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OdEaqd&XNITEHE HUIYX 1,000,000& *73] 7,000
OslEzd a4 22l 500,000& = 12& 6,000
02 3323l 24,800 16,600 8,200
OBEZAND Ral2a ugs 2
1,300& %604 150 11,700
OsezdzaXR M3 500,000& »12& 6,000
OslBdaX+ &6t R= 300,000&*12& 3,600
OslB32X 7 AIE&EHIKAH 500,000 73] 3,500
202 o4dl 4,000 3,200 800
01 = LH o4 1l 4,000 3,200 800
OslEIJE71gY 2LIHE ¥ #x oty 4,000
206 = Hl 52,800 45,500 7,300
01 MHZ 4l 52,800 45,500 7,300
OslEzd X+ HMEg&8 =378 & sS4
,000,000& *43 20,000
OslEgd2XF MEE =37 M2 ME+
2 3,000,000& =53] 15,000
OslEzd X+ HEge 8 NN 7
2,500,000& *43] 10,000
OEZAND S2F HYR 7Y
1,300& %40£ =150 7,800
405 TtHabH S| 5,000 0 5,000
01 AL EFH S 5,000 0 5,000
OslEzd X+ g2y ) 2
5,000,000% = 1CH 5,000
A ESH 18,072 31,056 N 12,984
101 124l 18,072 31,056 AN 12,984
4 DIt Z2XREES 18,072 31,056 A 12,984
OGIEME2Z(ZH) AISHE 2t
60, 2409._*10‘:‘4*60'*52| 18,072
SENE SFUHASTNA(GEAE 8. 28 &) 760,000 1,000,000 A 240,000
Xl 400,000
= 200,000
Al 160,000
307 glz2tol & 330,000 240,000 90,000
Xl 165,000
= 102,500
Al 62,500
02 RIZFE MM E X 330,000 240,000 90,000
OAMgE 2 110,000
Xl 55,000
< 27,500
Al 27,500
Ou=s & AOolLt 5,000




2A: AMdE
I =of HMA 25
(=R B

ol B MR CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 2,500
< 1,250
Al 1,250
O EHMSBNHY R&D 65,000
X 32,500
< 16,250
Al 16,250
ORes & E20tHE 120,000
Xl 60,000
< 50,000
Al 10,000
OsleEgde2d g4t 30,000
Xl 15,000
= 7,500
Al 7,500
401 A& BIZ 201 8] 415,000 760,000 A 345,000
Xl 227,500
< 93,750
Al 93,750
01 A& tl 412,120 755,212 A 343,092
OslENg=sd =4 292,120
Xl 146,060
< 73,030
Al 73,030
OM&22 HE 24 120,000
Xl 80,000
= 20,000
Al 20,000
03 Al =2 THHI 2,880 4,788 21,908
Saibl 2,880
Xl 1,440
< 720
Al 720
405 XHoHF S HI 15,000 0 15,000
Xl 7,500
< 3,750
Al 3,750
01 XL 2 ZF S| 15,000 0 15,000
O2Zes +¥ 15,000
211 01 & 7,000
Xl 3,500
< 1,750
Al 1,750
IR\l 1,500
Xl 750
< 375
Al 375
SSEED 500

Xl 250




2A: AMdE
I =of HMA 25
(=R B

ol B MR CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 125
Al 125
HED 2,000
Xl 1,000
= 500
Al 500
2d Xl 300
Xl 150
< 75
Al 75
U AD] 200
Xl 100
= 50
Al 50
POS &I 1,000
Xl 500
< 250
Al 250
Z =G 1,000
Xl 500
< 250
Al 250
TV 1,500
Xl 750
< 375
Al 375
NS M AHEA(SEESF NI ES MCELEY 162,287 116,960 45,327
)
Xl 129,830
< 9,737
Al 22,720
308 XXIEHH SOl A 162,287 116,960 45,327
Xl 129,830
< 9,737
Al 22,720
07 IXNSHH2AURE = 162,287 116,960 45,327
SESESIANIEE MCEMST F& ANZRES 162,287
Xl 129,830
< 9,737
Al 22,720
slEde] 295,402 540,803 A 245,401
101 14 dl 40,352 109,653 A 69,301
04 JIZHHZ2XRHEE S 40,352 109,653 A 69,301
OslEdelZd & ENot2A=ZSd 22| JI2HA
ol 2l 60,2403 x1H 130 7,832
OXielat HUASS3SE M=&Y JI2H o
2| 60,2403 x20H x252 13| 30,120




2A: AMdE
I =of HMA 25
(=R B

ol B MR CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OXiclat HUASE3S JAM==Y It
el 66,630 x2H x5 «23| 1,333
OslEdelZd ==2d8X =Y JI2HH 2]
66,6303 *4H 2«23 1,067
2 et A | 61,550
AtS 2t el i 10,350
OsEdelz2d 82 2EF & gz HE 3,250
OFSH2TH AR 28 SETY
500,000& x5& 2,500
Of=EeZe Ny 22 7
200,000& x5 13| 1,000
OslEgels&d =M 224 Al
8,000 20 153 2,400
Ooledelsd 2els fAUIHAMEIARZ
200,000 x6 & 1,200
23224l 51,200
Ooedelsd dI|, S4ea
4,000,000 x6 & 24,000
OoEdelsd otk R
2,000,000& x6 & 12,000
OoEdels32d A4 & FHIsXl 6,000
OslEdelZd 2els ARA vegs 2¢
1,500& x1,0004 1,500
OdJjetEzte] e+ 2 700,000 x6 & 4,200
OolBdel 33 Rl
2,500,000 = 1CH 2,500
OoslEeelEs&d dsA=AHl 1,000,000 104 1,000
206 M= Hl 23,500 54,050 A 30,550
01 =8l 23,500 54,050 A 30,550
OdBdesd 22=sEH 72 5,000& x500%E 2,500
OsZgeZE F38 A5 7
7,000& *100E 2S5 1,400
OBl=2WeIZR 5% S HE 2
20,000& x50& *13] 1,000
OslEZel3d JAHMAAY Az 2
2,000& 5004 1,000
Oslowelza ZAR 0143 7
800& *2,500F 2,000
OsEdel3d 22l st=2+¢8 3,000 5005 1,500
OfZwelZe T34 U si=e 57 S
AHTH = & 50,000& x205 *13] 1,000
OoEdelsd AT dE =37 ¢
500& *5,000=F 2,500
OzZaABRRE BN 2Y
20,0002 *x35+25F & 1,500
OZHYBE2IS HHNBE 7Y
10,000& * 103 10CH 1,000
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X ZH -
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el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEECEE P IEEEEE
1,800& %9004 *53 8,100
401 Al HIZ 201 I 170,000 250,000 80,000
01 A& HI 168,776 248,200 AT9,424
OXielatsiEde Ald2 B4
170,000, 000& *99.28% 168,776
03 AlE 2 THHI 1,224 1,800 A576
OXlelatsiEde Ald2 B4
170,000, 000& *0.72% 1,224
W==SEHYM JIEt2= 2,631,009 3,296,750 A 665,741
= 3,000
X 100,000
J| 890,524
< 42,300
Al 1,595,185
DAY 342,700 231,000 111,700
402 RI2EX20| ™ 342,700 231,000 111,700
01 2I2E 2 AL B (RERTH ) 342,700 231,000 111,700
ONBE Z& MAMET XA 262,700
OAML St A4 40003 +25,000m x50% 50,000
O==0t AR =4 2,000& *30,000m" «50% 30,000
=AM AD[BEAI A 215,000 300,000 A 85,000
402 RI2FX=01 M 215,000 300,000 A 85,000
01 2IZF 2 A B (RERTH &) 215,000 300,000 A 85,000
O K=& 2+EXF 1,000,000 *207H *50% 10,000
Ox==Jt 2F(FE)XE
7,000, 000& *303 *50% 105,000
Olt+==Jt M2XMd K&
10,000, 000 *20= *50% 100,000
DEE =44 XA 650,000 400,000 250,000
402 RIZEX20l A 650,000 400,000 250,000
01 2IZEH 2 A B (KA ) 650,000 400,000 250,000
Ot U=R AUEAZYO0NH X
20,000,000& *20CH x50% 200,000
Ot DAXHAIX X
16,000, 000& *30CH x50% 240,000
OngHgEI XA 8,000, 000 & *20CH *50% 80,000
OX&E dolgXE 237 XN&
6,000, 000 & *25CH *50% 75,000
Otz MUl ol X
50& *2,200,000& *50% 55,000
S84 AT 50,000 50,000 0
402 RIZ2FX20l ™ 50,000 50,000 0




2A: AMdE
I =of HMA 25
(=R B

SR BASTUY @RS (29 a8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 2IZEH 2 A B (KR ) 50,000 50,000 0
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